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Some hotels ask their guests to rate the hotel’s services as excellent, very good, good, and
poor. This is an example of the ’

a. ordinal scale

b. ratio scale

c. nominal scale

d. interval scale

The interquartile range is
a. the 50th percentile ) ,
another name for the variance :
¢. the difference between the largest and smallest value :
d. the difference between the third quartile and the first quartile

IfP(A) = 0.4, P(B| A) = 0.35, P(A'U B) =0.69, then P(B) =

a 0.14
b, 043
¢c. 0.75
d. 0.59
If two events are independent, then

a. they must be mutually exclusive

b. the’sum of their probabilities must be equal to one
¢. their intersection must be zero

d, None of these alternatives is correct.

IfA rnd B are independent events with P(A) = 0.38 and P(B) = 0.55, then

P(A}B)=
a. 0209
b. 0.000
c. 0.550
d. 0.38

For a uniform probability density function, .

a. the height of the function can not be larger than one

b. the height of the function is the same for each value of x

¢. the height of the function is different for various vaiues of x
d. the height of the function decreases as x increases

A sample statistic is an unbiased estimator of the population parameter if

a. the expected value of the sample statistic is equal to zero -

b. the expected value of the sample statistic is equal to one . ‘

¢. the expected value of the sample statistic is equal to the population parameter
d. itis equal to zero

Which of the following is(are) point estimator(s)?

a o

b. u

c. s

d o

I 9. The following data was cqliected from a simple random sample of a population.

13 15 14 .16 12

The 505133 estimate of the population standard deviation is

A population has a mean of 150 and a standard deviation of 30. A random sample of 100
from this population is selected. The sample has a mean of 145 and a standard dsviation of
33 5The sampling etror is

a. :

b. 50
c. 45
d 120

distribution to use is

the normal distribution

the t distribution with n degrees of freedom
the t distribution with n - 1 degrees of freedom

the t diétribution wnth n- 2 fl.e-grees éf ﬁ'ee.dom ( # ﬁ w i ﬂ E , ﬁ ‘ & # s.)

For the interval estimation of i when o is known and the semple is large, the proper
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Froma Jnopulat_ion that is normally distributed, a sample of 25 elements is selected andthe
standard deviation of the sample is computed. For the interval estimation of M, the proper
dlsmbutlontousg is the _ . o - -

a. normal distribution

t distribution
¢. tdistribution with 26 degrees of freedom
d. tdistribution with 24 degrees of freedom

Whenever using the t distribution in estimation, we must assume that

g. the sample size is at least 30 )

b. the sampling distribution is approximately normal

¢. the popuiation is approximately normal

d. the finite population correction factor is necessary =

When the following hypotheses are being tested at a level of significance of o
Hy: p2100

He p<106 . . e s
the null hypothesis will be rejected if the test statistic Z is

a »

b 3%
c. <-Z
d <100

When the p-value is used for hypothesis testing, the null hypothesis is rejected if
a. p-value<a '

b. o <p-value

C. p-value>q

d. pvalue=q

Your investment executive claims that the average yearly rate of return on the stocks she
recommends is at least 10.0%.  You plan on taking a sample to test her claim. The correct set

of hypotheses is _
8. Hyg p<10.0% He p210.0%
b. Hy ps<100%  H: 1>100%
¢c. Hy p>10.0% Hye n<10.0% P .
d Hy p210.0% Hy p<10.0%
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20 The standardized test statistic equals .- L
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a hypothesis is not rejected at the 5% level of significance, it
will also not be rejected at the 1% level :
b.  will always be rejected at the 1% level
c. will sometimes be rejected at the 1% leve! -
None of these alternatives is correct.

For a one-tailed hypothesis test (upper tai) the p-value is computed to be 0,034, If the test is
being conducted at 95% confidence, the null hypothesis L :
2. could be rejected or not rejected depending on the sample size
b. could be ;gected or not rejected depending on the value of the mean of the sample
C. 1s not rejected ' '
is rejected

An estimate of the variance of a population based on the combination of two sample results is
known as the .
8. pooled standard deviation
metched variance -
c. K}oolcd variance estimate
d. None of these alternatives is correct.

To construct an interval estimate for the difference between the means of two populations
which are normally distributed and have e?_ual varialces, we must use a t distribution with (let
1) be the size of sample | and n, the size 0 sampie 2)
a.  (n, + n,) degrees of freedom

n+n;- 1; degrees of freedom :
C. (0 +np-2)degrees of freedom
d m-n+2
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22 Salary information for a random sample of male and female employees of a large company is
shown below.

] Male Female

Sample Size _ 36

Sample Mean Salary (in $1,000) 44 41

Sample Variance . 128 72 .
The pzosmt estimate of the difference between the means of the two populations is
g -

b. 3

c. 4

d -4

of mg.lgs is significantly greater than that of females, the tesf statistic is
a.

b. 1.5
¢. 196
d. 1.645

to construct a confidence interyal estimate for the difference between the population means.

to use for the _samg:lipg distribution is the
a. normal distribution

b. tdistribution with 15 degrees of freedom
c. tdistribution with 35 degrees of freedom
d. tdistribution with 50 degrees of freedom

Exhibit A
The mean of the sample equals 11.83, and the standard deviation equais 4.53.

: 2 3 5 5 7 8 8 9 9 10
, 11 11 12 12 12 12 13 13 13 14
j 15 15 15 16 16 17 17 18 18 19

27. An ANCVA grocedure is applied to data obtained from 6 samples where each sample
contains 20 observations. “The degrees of freedom for the crifical value of F are
a. 6 numerator and 20 denominator degrees of freedom
2 numerator and 20 denominator dggrees of freedom
¢. 5 numerator and 114 denominator degrees of freedom
6 numerator and 20 denominator degrees of freedom

minimizes the sum of the squared deviations between the

variable

c. observed values of the dependent variable and the estimated values of the dependent

variable L
d. None of these alternatives is correct,

the set of independent variables is significant?
a. ttest '
. Frest .
c. Either a t test or a chi-square test can be used.
chi-square test

30. The coefficient of correlation oo
a. s the square of the coefficient of determination
is the square root of the coefficient of determination
C. is the same as r-square
d. can never be negative

e e o

23, Refer to last problem’s data.  If you are interested in testing whether or not the average salary

24, Independent samples are obtained from two normal opulations with equal variances in order

If the first sample contains 16 items and the second sampie contains 36 items, the correct form

You want to test whether or not the following sample of 30 observations follows 2 normal distribution.

25. Refg{ to Exhibit A. The number of intervals or categories used to test the hypothesis for this
roblem is .
| )
| b. 5
c 6
! d. 10
|26 Refe; to Exhibit A. The expected frequency in the 3rd interval is
a,
b. 4
c. S
d 10

28. Application of the least squares method results in values of the y intercept and the slope which
a. observed values of the independent variable and the estimated values of the independent
b. actual values of the independent variable and estimated values of the dependent variable

29. In a regression model involving more than one independent variable, which of the following
tests must be used in order to determine if the relationship between the dependent variable and




